
Linear	Programming	-	Class	XII

Past	Year	JEE	Questions

Questions

Quetion:	01
The	sides	of	a	triangle	are	 	 	and	 	where	 ,	 	then	the	triangle	is
A.	right	angled
B.	obtuse	angled
C.	equilateral
D.	none	of	these

Solutions

Solution:	01

Explanation
Let	 	

and	 	

as	 	is	the	largest	side	

	 	is	the	largest	angle.	Now	

	

	

	 	is	obtuse	angle	 	is	obtuse	angled

3x + 4y, 4x + 3y 5x + 5y x y > 0

a = 3x + 4y, b = 4x + 3y

c = 5x + 5y

x, y > 0, c = 5x + 5y

∴ C

cos C = + −(3x+4y)2 (4x+3y)3 (5x+5y)2
2(3x+4y)(4x+3y)

= < 0−2xy
2(3x+4y)(4x+3y)

∴ C ⇒ ΔABC


